	NAME: _____________
	Stats and probability

	Sample Size Pt2
	DATE: Friday, March 02, 2012


FORMULAS TO CALCULATE SAMPLE SIZE AND CONFIDENCE INTERVAL

· Z is the Z-Score (A number based on how confident in our answer we want to be.  Z scores you need to know:

· 90% confident = 1.64

· 95% confident = 1.96

· 99% confident = 2.57

	To find how large a sample you need to survey:

	1. Find x based on your Z-Score above
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2. Find Sample Size(n).  

If N is small (<100000)
If N is large 
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Where:

· N is the population.  If you don’t know it exactly, guess.  

· E is the confidence interval.  It’s the plus-or-minus figure you see in newspapers to give yourself some room where the exact answer is. (So if we want to be within 5% of the correct answer, E is .05)




Activities:1. Find the sample size necessary for the following and show work:

	We want to be 95% confident that we are within 2% of the actual result; our population is 1100.  How many people should we survey?
	We want to be 95% confident that we are within 2% of the actual result; our population is really large.  How many people should we survey?

	We want to survey Deering HS (population 1100).  We want to be 90% accurate and be within 5%. How many people should we survey?
	We want to survey Deering HS (population 1100).  We want to be 99% accurate and be within 5%. How many people should we survey?


Population size and sample size 

How does a larger the population size affect sample size?

Finish this table for 95% confidence with +-4% confidence interval

	Population
	Sample Size

	500
	

	1000
	

	5000
	

	10000
	

	50000
	

	100000
	

	1,000,000
	

	1,000,000,000
	


Confidence and sample size 

How does a higher confidence affect sample size?

Finish this table for a large population (>100000) with +-4% confidence interval

	Population
	Sample Size

	80%
	

	90%
	

	95%
	

	99%
	

	99.9%
	


Confidence Interval and sample size 

How does a larger confidence interval affect sample size?

Finish this table for a large population (>100000) with 95% confidence 

	Population
	Sample Size

	+-.5%
	

	+-1%
	

	+-3%
	

	+-5%
	

	+-10%
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